[H22E 4 PR @ # ]

3¢ 30 6600V
L L
2,
[
v
X TER [
e =)
d [ 325 U—rR=1 \ (BRE%) 2 500
900 800 800 1800
O ASHE ] [
BESER ETEOR  EEDNR
You T T r 1
[ 6.6kV_CV60mm2 x 3G (PLP70) |
ACH ‘ &3 @ o @ ‘ ‘ ‘
67 DGR BEZERE A FEH S § n n n
d {2 10kVA g = i u v
2CT
(#mmzEzAm Ve | ", 53
| tEEEhZ®&E | L, 1 L4 © | ‘
== = ]
aE AR LBS
7. 2kV 200A RCAOKA it gf -
BRifiE 1 —X G50A
LBS
PF vix2 IR TEH
¢ s @ 9, 000V
SEEZEEEEE VOB
7. 2kV 600A 12. 5kA B [ BRFa—ESLER 5=1/30 |
VCB | AS
q 03) wWy—@—(A) 20/58
cT
0CRx 2
EEBATHE g BEHY FTY kPG &‘ BEHYRTYE PC
7.2kV 30Ax 2 =Y 7. 2KV 30Ax 2 B
B 1—X G20A BiRE 1—X GI5A "
PNy Py Py
| BATHME b5 VR CHA) |(CL)| [BA=HEES 2R GEA) | | [R2 2 kb5 2R GEA)
! 50kVA = ; i [ 75kVA B ; i [ 10kVA B
|(Z)I [“ss00v/zi0v-105v |(A)] [“seoov/2iov || [200v/210~ 105V x 2
Ll [ Ll
E 'S F 'S
—=—P—(V) so0v t—=—P——(V) 300v s - -
5 5 y&— e e e T )
OTx2 o —(1)——(A) 300/5A CTx2 300/5A I .
¢ < g < I
300/5 §— 300/5 §— .
[l Y
NNNNREEI NNNNNNEN| | s Of e
z—} | —
[ T
| F; PN
. -—: —_—— e — — — — ,‘ ‘, ,,,,,,,,,,,
I
. 11 11 11
2 D D D XMEZERRE B
] « 11 11 I
% z % 5 5 5. 35 5% 5 5.3 35 5.8 3.3 5.2 g e
= SN NN EANEENE N N NN ENERNENEN RN @ I,,,fﬁ,,,jj,,,,j, ,,,,,,
" PEECECH R, ol ot ntlok ot ntlotloat|olak I — — g1 1
> S5|E5|85/2H|E8|28/€8|88 SN ERENERERENEEEE EREE I H N
[ I I [
- <8r Ev bk Evk I " H
%{S - Il 1 [
= " " 1
q === = I
- - . - ,(5 / [ [ 11
& i s # TR & & 4 i
S L Rt t
& o T o " " \J/ \J, - M - - - B4 'S é - é [ [
o #| 0 I ! N AR B 1|
oA 3 slsls]A] | B|e R
AT :
EEE [ WxD | mEl [ wTim si/00 ]
330 75kVA | 675 x 590 65L
16 3W 50kVA | 450 x 555 470 -
SEEE Py 239bTR 10kVA | 460 x 340 26L X WEROEEBIRENEL LTRERS (SUSH) 2RELIRMT 5L, Ld: T=&@mE
RERRE EREHD SRMEIHL 1. SEOBRERETHIL,
TERAE I 28,3 N R EORA RV e E] - [P 5 = & R — o e
—rw o 5 3 | E| i il o BEEEMS 6| LBETSEGADEIREESER L
EOMOBIERS - B M - s i Iy % = wwn =% it . "
CR LT DTS . BERG—RRELEE - H == = waERE (| —
R BT BEBHERS - 0 BRBHERS - B " W il & s &£ A B %16 £ 78 01 b m x & " B o E HRERE R jt;’ﬁ‘g%&tr— 'A%%&%%jjﬁéﬂ-é
(REEHARIERS - BE) o) o o) e A ;;2 7 wm 2| & A B % BB IT ik E ax i
® e e e oz = BEZ 1] il BiE B -




